=0 9] e
Al 3x—2y-6=0 2

7

o] “].1:10}

Nfo




LAY A dx—y =10 9] ZAZ7} F 4 (a,0), (0,b) E A2 ™, ab
w27

® -25 @ -24 ® -20 @ -18 ® -12



3.

x 9] gro] 2vba St wf, y o g2 4WE 4
ax -4y +1=02] JI L] A= a Of 27

@® -10 @ -9 ® -8 @ -7



EZl

@ 4dx-y= © 3x+14+y=3x
© y-x=y+1 ® 2y=1

@ 7Tx-1=

@ 174 @ 27 @ 371 @ 47 ® 570




% $le] LheRd o]t

£ 2457
2 gge

o
o

el
34

/3\:6'

yl\

0]

D~
o) — —
T |
-~
- D&
I +
+ - 1w
2= N R
b~ <
[ T
~
A s A _y
+ 0+ 0+
ROROR R R N
N e N e e’



_ o/ 3 >
® -7 @ -3 ® 3 /Nt
@ 5 ® 7




7. TSy =ax-6,y=-x+62 THL| wHo] X

y=2x+0 9 TeI 9] 91S 1, a ] S ToHH?

© -13 @ -7 ® -1 @1 ®7



8.

o
& 2A

|

ax+4y =15
2x-y =17

of a7k ZASHA 2 . a 9] B



9.

=
e

A6 -1, (@ 2)8 Ak 44

O ot A2 PSS E 5= A g

D1 @ 2 ® 3

o &
ru

o QA
(o]

[e) }_?



QAL ax+y-5 =09 THZE T (2, 9), (3, b) & Ak,
oful, 4% b 9] gHe FohE?

® -12 @ -11 @0 @ 11 ® 12



11.
ohg 29 QAP Lt y-1=09]
gz oltt, g 9 gHe? ¢

@ 3
@ 12

A
BAT ¢

@ 6
® 15

4

® 9




12, o3 O39S AT A ax + by = 12 9] I Zo|t}, ab O] 327

YA

o




13.

@y=—5x—4 @y:_5x_1



14. o2 I T 7 x+ay+b =02 &2 o, YA
L0 A09
0 N 7
@ a<0,b>0 @ a>0,b>0 ® a>0,b<0
® a>0,b=0

@ a=0,b>0



15. o3 5 A8 ax+ by +¢c = 09 IH=Z2 &2 A2? (H,
a=0,b>0,c>0)

@® @
YA YA
—o 7 — o 7
@
W
O z

®
y'
[6) z
®
O T



xX=a, X
AHZtE
@ 2

£

—a, y=3,2y+6=029 IH=Z=Z AR
,Fa o] T2 (Ha>0)



17.

DALy = ax+b o T2 A4 243y -2 = 0 2 Tz}
Gastal, A4 3x -2y -4 =0 y 5 FlollA] whdt} o] ofj, A4
ab 1 g a+b ol g7

\]
0]
[



18.

1

A x-2y =5, 2x+3y = -4 S wYHX A (3, 2) E A=
1

b I

Ao A y=ax+b et & W, ab 9] F= F5HH?

L 1=

X4

© -8 @ -6 ® -4 @ 2 ® 6



T

=

~

T

R

r

)

X

o

el

e

o o

o ol

1=

— ﬂe

T =

U
o

-

S

1z

[ o

5T

+ W

R o—

o

T

SO

b 7

=)

— <t

— ™

— |



20.

x, y off T3t
J==7r A
2] o] vrAd Al
®y=3
@ x=14

v

sl

kel
—

o]

a

=

i

-0

2P 5x -2y -7T=0, -2x+3y—-6 =0 9

B) oA W w3 P & AL y ol Pyt



21. F4ATTy=(a+1)x+3, y=>b-2x2 THIL7} A& T}7]
7] fgh 242
®a=-3b#3 @ a#-3,b=3
® a#-3,b+-3 @ a=-2,b=-3

® a#-2,b=3



22.

F AR (a+Dx-y+
o for 2 ALY
D a=3b=4

2=0%4x+2y+b-1=0°] HHPZ I, g, b

@ a=4, b=-1

@ a=-3,b+-3



23. 3 1A
AABC 9} w2}

IA
Q

IA
[\

Wl N~
IA
N}
IA
w

Xe)
=

0]
=
T

2t
),

Sh
=
a

y = ax®] AAlo]

=
of gre) W9t

®

W =W =
IN
IS
IA

NN w

IA
Q
IA

r--8

Sy



24. a< 09 A Ay =ax+3, x+y=3y=022 K
AZrg o] Wolrzt 12 & uf, A g 9] 3H29

3 3 3 )
o = @—ﬁ ®3



x+33% x =492 A I x o2 K3

3
1

Fy=

1

ToR

o~
)

g

o

@ 3 ® 6

®1

™M A

o | <



